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                  CHAPTER 10 

Cell division is made up of two parts: M __ __ __ __ __ __ which divides the chromosomes 
    and C __ __ __ __ __ __ __ __ __ __ which divides the cytoplasm.
A chromosome is made up of two identical chromatid arms joined in the middle by a C __ __ __ __ __ __ __ __ __.  
G1, S, and G2 combine to make up I __ __ __ __ __ __ __ __ __ , the non-dividing phase of the cell 
     cycle.  

When cells like nerve cells are in G0 , they leave the cell cycle and S __ __ __ dividing.

The two _C_ __ __ __ __ __ __ __ __ arms of a chromosome are identical copies.

DNA is copied during the S phase of _I_ __ __ __ __ __ __ __ __ __.
During _P_ __ __ __ __ __ __ __ the chromatin scrunches into  C __ __ __ __ __ __ __ __ __ __.

During PROPHASE the nuclear membrane and N __ __ __ __ __ __ __ __ disappear. 

During M __ __ __ __ __ __ __ __  the chromosomes line up in the middle of the cell.
In A __ __ __ __ __ __ __ the chromatid arms separate and move to opposite ends of the cell.
TELOPHASE is also called reverse P __ __ __ __ __ __ __ because all of the events that happen in prophase are “undone” in telophase. 
H __ __ __ __ __ __ __ __ __ chromosomes are the same size and the same shape and carry genes for the same traits but are NOT identical.
C __ __ __ __ __ __ __ __ __ are log-like structures that appear during prophase an animal cell and move to opposite ends of the cell to pull the chromosomes apart.
The S __ __ __ __ __ __ fibers are made of microtubules and connect each chromosome to the centrioles. 
When DNA is spread out in the nucleus of non-dividing cells it is called C __ __ __ __ __ __ __ __ . 

When DNA is scrunched up in dividing cells it is called C __ __ __ __ __ __ __ __ __ __.

The disease in which body cells lose the ability to control division is called  C __ __ __ __ __

When animal cells undergo cytokinesis they use a C __ __ __ __ __ __ __   F __ __ __ __ __ to split      
      their cytoplasm.

Plant cells use a C __ __ __   P __ __ __ __ to do cytokinesis because their cell wall keeps them from pinching.

The repeating steps a cell goes through during its lifetime are called the C __ __ __   C __ __ __ __.

_I_ __ __ __ __ __ __ __ __ __ is made up of G1, S, and G2.

During _T_ __ __ __ __ __ __ __ __ the nuclear membrane and nucleolus return and spindle and centrioles disappear.

